# SECOND HANKEL DETERMINANT FOR A CLASS OF ANALYTIC FUNCTIONS OF THE MITTAG-LEFFLER-TYPE BOREL DISTRIBUTION RELATED WITH LEGENDRE POLYNOMIALS 

G. MURUGUSUNDARAMOORTHY ${ }^{1}$, S. M. EL-DEEB ${ }^{2 *}$, §


#### Abstract

In this paper, we obtain the Fekete-Szegö inequalities for the functions of complex order connected with the Mittag-Leffler-type Borel distribution based upon the Legendre polynomials. Also, find upper bounds of the second Hankel determinant $\left|a_{2} a_{4}-a_{3}^{2}\right|$ for functions belonging to the class $\mathcal{M}_{\gamma}^{\eta}(\lambda, \alpha, \beta, x)$.


Keywords: Fekete-Szegö inequality, Second Hankel determinant, the Mittag-Leffler-functions, Borel distribution, Legendre polynomials, Complex order.

AMS Subject Classification: Primary 30C45, 11B37, Secondary 47B35, 47B38.

## 1. Introduction

Denote $\mathcal{A}$ the family of analytic functions whose members are

$$
\begin{equation*}
f(z)=z+\sum_{k=2}^{\infty} a_{k} z^{k},(\Delta=\{z:|z|<1, z \in \mathbb{C}\} \tag{1}
\end{equation*}
$$

with the normalization condition $f(0)=0=f^{\prime}(0)-1$, and $\mathcal{S}$ be the subclass of $\mathcal{A}$, which are univalent functions. Furthermore, let $\mathcal{P}$ be the family of functions $p(z) \in \mathcal{A}$

If $f$ and $g$ are analytic functions in $\Delta$, we say that $f$ is subordinate to $g$, written $f \prec g$ if there exists a Schwarz function $w$, which is analytic in $\Delta$ with $w(0)=0$ and $|w(z)|<1$ for all $z \in \Delta$, such that $f(z)=g(w(z))$. Furthermore, if the function $g$ is univalent in $\Delta$, then we have the following equivalence (see [5] and [21]):

$$
f(z) \prec g(z) \Leftrightarrow f(0)=g(0) \text { and } f(\Delta) \subset g(\Delta) .
$$

[^0]Let $\mathbf{E}_{\alpha}(z)$ and $\mathbf{E}_{\alpha, \beta}(z)$ be the function defined by

$$
\begin{equation*}
\mathbf{E}_{\alpha}(z)=\sum_{k=0}^{\infty} \frac{z^{k}}{\Gamma(\alpha k+1)}, \quad(z \in \mathbb{C}, \operatorname{Re}(\alpha)>0) \tag{2}
\end{equation*}
$$

and

$$
\mathbf{E}_{\alpha, \beta}(z)=\frac{1}{\Gamma(\beta)}+\sum_{k=1}^{\infty} \frac{z^{k}}{\Gamma(\alpha k+\beta)}, \quad(\alpha, \beta \in \mathbb{C}, \quad \Re(\alpha)>0, \Re(\beta)>0)
$$

It can be written in other form

$$
\mathbf{E}_{\alpha, \beta}(z)=\frac{1}{\Gamma(\beta)}+\sum_{k=2}^{\infty} \frac{z^{k-1}}{\Gamma(\alpha(k-1)+\beta)}, \quad(\alpha, \beta \in \mathbb{C}, \quad \Re(\alpha)>0, \Re(\beta)>0)
$$

The function $\mathbf{E}_{\alpha}(z)$ was introduced by Mittag-Leffler [24] and is, therefore, known as the Mittag-Leffler function. A more general function $\mathbf{E}_{\alpha, \beta}$ generalizing $E_{\alpha}(z)$ was introduced by Wiman [29] and defined by

$$
\begin{equation*}
\mathbf{E}_{\alpha, \beta}(z)=\sum_{k=0}^{\infty} \frac{z^{k}}{\Gamma(\alpha k+\beta)}, \quad(z, \alpha, \beta \in \mathbb{C}, \operatorname{Re}(\alpha)>0, \operatorname{Re}(\beta)>0) \tag{3}
\end{equation*}
$$

Observe that the function $\mathbf{E}_{\alpha, \beta}$ contains many well-known functions as its special case, for example,
$\mathbf{E}_{1,1}(z)=e^{z}, \mathbf{E}_{1,2}(z)=\frac{e^{z}-1}{z}, \mathbf{E}_{2,1}\left(z^{2}\right)=\cosh z, \mathbf{E}_{2,1}\left(-z^{2}\right)=\cos z, \mathbf{E}_{2,2}\left(z^{2}\right)=\frac{\sinh z}{z}$, $\mathbf{E}_{2,2}\left(-z^{2}\right)=\frac{\sin z}{z}, \mathbf{E}_{4}(z)=\frac{1}{2}\left[\cos z^{1 / 4}+\cosh z^{1 / 4}\right]$ and $\mathbf{E}_{3}(z)=\frac{1}{2}\left[e^{z^{1 / 3}}+2 e^{-\frac{1}{2} z^{1 / 3}} \cos \left(\frac{\sqrt{3}}{2} z^{1 / 3}\right)\right]$. The Mittag-Leffler function arises naturally in the solution of fractional order differential and integral equations, and especially in the investigations of fractional generalization of kinetic equation, random walks, Lévy flights, super-diffusive transport and in the study of complex systems. Several properties of Mittag-Leffler function and generalized MittagLeffler function can be found e.g. in $[2,4,12,13,14,18]$. Observe that Mittag-Leffler function $\mathbf{E}_{\alpha, \beta}(z)$ does not belong to the family $\mathcal{A}$. Thus, it is natural to consider the following normalization of Mittag-Leffler functions as below :

$$
\begin{equation*}
E_{\alpha, \beta}(z)=z \Gamma(\beta) \mathbf{E}_{\alpha, \beta}(z)=z+\sum_{k=2}^{\infty} \frac{\Gamma(\beta)}{\Gamma(\alpha(k-1)+\beta)} z^{k} \tag{4}
\end{equation*}
$$

it holds for complex parameters $\alpha, \beta$ and $z \in \mathbb{C}$. In this paper, we shall restrict our attention to the case of real-valued $\alpha, \beta$ and $z \in \Delta$.

A discrete random variable $x$ is said to have a Borel distribution if it takes the values $1,2,3, \cdots$ with the probabilities $\frac{e^{-\lambda}}{1!}, \frac{2 \lambda e^{-2 \lambda}}{2!}, \frac{9 \lambda^{2} e^{-3 \lambda}}{3!}, \cdots$, respectively, where $\lambda$ is called the parameter.
Very recently, Wanas and Khuttar [28] introduced the Borel distribution (BD) whose probability mass function is

$$
P(x=\rho)=\frac{(\rho \lambda)^{\rho-1} e^{-\lambda \rho}}{\rho!}, \quad \rho=1,2,3, \cdots
$$

Wanas and Khuttar introduced a series $\mathcal{M}(\lambda ; z)$ whose coefficients are probabilities of the Borel distribution (BD)

$$
\begin{equation*}
\mathcal{M}(\lambda ; z)=z+\sum_{k=2}^{\infty} \frac{[\lambda(k-1)]^{k-2} e^{-\lambda(k-1)}}{(k-1)!} z^{k}, \quad(0<\lambda \leq 1) \tag{5}
\end{equation*}
$$

The probability mass function of the Mittag-Leffler-type Borel distribution is given by

$$
\mathcal{P}(\lambda, \alpha, \beta ; \rho)=\frac{(\lambda \rho)^{\rho-1}}{E_{\alpha, \beta}(\lambda \rho) \Gamma(\alpha \rho+\beta)}, \quad \rho=0,1,2, \cdots
$$

where

$$
E_{\alpha, \beta}(z)=\sum_{k=0}^{\infty} \frac{z^{k}}{\Gamma(\alpha k+\beta)}, \quad(\alpha, \beta \in \mathbb{C}, \quad \Re(\alpha)>0, \Re(\beta)>0)
$$

Thus by using(4) and (5) and by convolution operator, we define the Mittag-Leffler-type Borel distribution series as below

$$
\mathcal{B}(\lambda, \alpha, \beta)=z+\sum_{k=2}^{\infty} \frac{(\lambda(k-1))![\lambda(k-1)]^{k-2} e^{-\lambda(k-1)}}{(k-1)!E_{\alpha, \beta}(\lambda(k-1)) \Gamma(\alpha(k-1)+\beta)} z^{k}, \quad(0<\lambda \leq 1)
$$

Next, we introduce the convolution operator

$$
\begin{align*}
\mathcal{B}(\lambda, \alpha, \beta) f(z) & =z+\sum_{k=2}^{\infty} \frac{(\lambda(k-1))![\lambda(k-1)]^{k-2} e^{-\lambda(k-1)}}{(k-1)!E_{\alpha, \beta}(\lambda(k-1)) \Gamma(\alpha(k-1)+\beta)} a_{k} z^{k} \\
& =z+\sum_{k=2}^{\infty} \phi_{k} a_{k} z^{k} \tag{6}
\end{align*}
$$

where $\alpha, \beta \in \mathbb{C}, \Re(\alpha)>0, \Re(\beta)>0,0<\lambda \leq 1$ and

$$
\begin{equation*}
\phi_{k}=\frac{(\lambda(k-1))![\lambda(k-1)]^{k-2} e^{-\lambda(k-1)}}{(k-1)!E_{\alpha, \beta}(\lambda(k-1)) \Gamma(\alpha(k-1)+\beta)} . \tag{7}
\end{equation*}
$$

Legendre polynomials, which are exceptional cases of Legendre functions, are familiarized in 1784 by the French mathematician A. M. Legendre (1752-1833). Legendre functions are a vital and important in problems including spherical coordinates. As well, the Legendre polynomials, $P_{k}(x),(|x|<1)$, are designated via the following generating function(see [19]) :

$$
\begin{equation*}
G(x, z)=\frac{1}{\sqrt{1-2 x z+z^{2}}}=\sum_{k=0}^{\infty} P_{k}(x) z^{k} \tag{8}
\end{equation*}
$$

Legendre polynomials are the everywhere regular solutions of Legendre's differential equation that we can write as follows:

$$
\left(1-x^{2}\right) \frac{d^{2}}{d x^{2}} P_{k}(x)-2 x \frac{d}{d x} P_{k}(x)+m P_{k}(x)=0
$$

where $m=k(k+1)$ and $k=0,1,2, \cdots$. Taking $x=1$ in (8) and by using geometric series, we see that $P_{k}(1)=1$, so that the Legendre polynomials are normalized. Thus Let $G(x, z)$ denote the class of analytic functions on $U$ which are normalized by the conditions $G(x, 0)=0$ and $G^{\prime}(x, 0)=1$.

Definition 1.1. Let $P_{k}(x)$ is Legendre polynomials of the first kind of order $k=0,1,2, \cdots$, the recurrence formula is

$$
\begin{equation*}
P_{k+1}(x)=\frac{2 k+1}{k+1} x P_{k}(x)-\frac{k}{k+1} P_{k-1}(x) \tag{9}
\end{equation*}
$$

with

$$
P_{0}(x)=1 \quad \text { and } \quad P_{1}(x)=x
$$

In 1976, Noonan and Thomas [26] discussed the $q^{\text {th }}$ Hankel determinant of a locally univalent analytic function $f(z)$ for $q \geq 1$ and $n \geq 1$ which is defined by

$$
H_{q}(n)=\left|\begin{array}{cccc}
a_{n} & a_{n+1} & \ldots & a_{n+q-1} \\
a_{n+1} & a_{n+2} & \ldots & a_{n+q} \\
\vdots & \vdots & \vdots & \vdots \\
a_{n+q-1} & a_{n+q} & \ldots & a_{n+2 q-2}
\end{array}\right| .
$$

For our present discussion, we consider the Hankel determinant in the case $q=2$ and $n=2$, i.e. $H_{2}(2)=a_{2} a_{4}-a_{3}^{2}$. This is popularly known as the second Hankel determinant of $f$.
Stimulated by the recent works on radii problems for some classes of analytic functions and coefficient results associated with Legendre polynomials in the articles $[6,8,9]$,in this paper we define a new class $\mathcal{M}_{\gamma}^{\eta}(\lambda, \alpha, \beta, x)$ given in Definition 1.2. Based on Earlier works on sharp upper bounds of $H_{2}(2)$ for different classes of analytic functions(see[1, 3, 10, 11, 16, 22, 23, 25])we investigate the Fekete-Szegö inequalities for the functions in the class. We also obtain an upper bound to the functional $H_{2}(2)$ for $f \in \mathcal{M}_{\gamma}^{\eta}(\lambda, \alpha, \beta, x)$.

Now, we define the following class $\mathcal{M}_{\gamma}^{\eta}(\lambda, \alpha, \beta, x)\left(0 \leq \gamma \leq 1, \eta \in \mathbb{C}^{*}=\mathbb{C} \backslash\{0\}, \alpha, \beta \in\right.$ $\mathbb{C}, \Re(\alpha)>0, \Re(\beta)>0,0<\lambda \leq 1,|x|<1)$ as follows:

Definition 1.2. Let a function $f(z) \in \mathcal{A}$ is said to be in the class $\mathcal{M}_{\gamma}^{\eta}(\lambda, \alpha, \beta, x)$ if

$$
\begin{equation*}
1+\frac{1}{\eta}\left((1-\gamma) \frac{\mathcal{B}(\lambda, \alpha, \beta) f(z)}{z}+\gamma(\mathcal{B}(\lambda, \alpha, \beta) f(z))^{\prime}-1\right) \prec G(x, z) \tag{10}
\end{equation*}
$$

where $\eta \in \mathbb{C}^{*} ; 0 \leq \gamma \leq 1 ; 0<\lambda \leq 1 ;|x|<1 ; z \in \Delta$.
Example 1.1. Let a function $f(z) \in \mathcal{A}$ is said to be in the class $\mathcal{M}_{0}^{\eta}(\alpha, \beta, x) \equiv \mathcal{N}^{\eta}(\alpha, \beta, x)$ if

$$
\begin{equation*}
1+\frac{1}{\eta}\left(\frac{\mathcal{B}(\lambda, \alpha, \alpha) f(z)}{z}-1\right) \prec G(x, z) \tag{11}
\end{equation*}
$$

where $\eta \in \mathbb{C}^{*} ; 0<\lambda \leq 1 ;|x|<1 ; z \in \Delta$.
Example 1.2. Let a function $f(z) \in \mathcal{A}$ is said to be in the class $\mathcal{M}_{1}^{\eta}(\lambda, \alpha, \beta, x) \equiv$ $\mathcal{R}^{\eta}(\alpha, \beta, x)$ if

$$
\begin{equation*}
1+\frac{1}{\eta}\left((\mathcal{B}(\lambda, \alpha, \beta) f(z))^{\prime}-1\right) \prec G(x, z) \tag{12}
\end{equation*}
$$

where $\eta \in \mathbb{C}^{*} ; 0<\lambda \leq 1 ;|x|<1 ; z \in \Delta$.
Example 1.3. Let a function $f(z) \in \mathcal{A}$ is said to be in the class $\mathcal{M}_{0}^{1}(\alpha, \beta, x) \equiv \mathcal{N}(\alpha, \beta, x)$ if

$$
\begin{equation*}
\left(\frac{\mathcal{B}(\lambda, \alpha, \beta) f(z)}{z}\right) \prec G(x, z) \tag{13}
\end{equation*}
$$

where $0<\lambda \leq 1 ;|x|<1 ; z \in \Delta$.
Example 1.4. Let a function $f(z) \in \mathcal{A}$ is said to be in the class $\mathcal{M}_{1}^{1}(\lambda, \alpha, \beta, x) \equiv$ $\mathcal{R}(\alpha, \beta, x)$ if

$$
\begin{equation*}
(\mathcal{B}(\lambda, \alpha, \beta) f(z))^{\prime} \prec G(x, z) \tag{14}
\end{equation*}
$$

where $0<\lambda \leq 1 ;|x|<1 ; z \in \Delta$.

## 2. Preliminary Results

To prove our results, we need the following lemmas.
Lemma 2.1. [27] Let

$$
\begin{equation*}
h(z)=1+\sum_{n=1}^{\infty} c_{n} z^{n} \prec 1+\sum_{n=1}^{\infty} C_{n} z^{n}=H(z) \quad(z \in \Delta) . \tag{15}
\end{equation*}
$$

If the function $H$ is univalent in $\Delta$ and $H(\Delta)$ is a convex set, then

$$
\begin{equation*}
\left|c_{n}\right| \leq\left|C_{1}\right| \tag{16}
\end{equation*}
$$

Lemma 2.2. [7] Let a function $p \in \mathcal{P}$ be given by

$$
\begin{equation*}
p(z)=1+c_{1} z+c_{2} z^{2}+\ldots . \quad(z \in \Delta), \tag{17}
\end{equation*}
$$

then, we have

$$
\begin{equation*}
\left|c_{n}\right| \leq 2 \quad(n \in \mathbb{N}) \tag{18}
\end{equation*}
$$

The result is sharp.

Lemma 2.3. [17, 20] Let $p \in \mathcal{P}$ be given by the power series (17), then for any complex number $\nu$, then

$$
\begin{equation*}
\left|c_{2}-\nu c_{1}^{2}\right| \leq 2 \max \{1 ;|2 \nu-1|\} . \tag{19}
\end{equation*}
$$

The result is sharp for the functions given by

$$
p(z)=\frac{1+z^{2}}{1-z^{2}} \quad \text { and } \quad p(z)=\frac{1+z}{1-z} \quad(z \in \Delta) .
$$

Lemma 2.4. [15]. Let a function $p \in \mathcal{P}$ be given by the power series (17), then

$$
\begin{equation*}
2 c_{2}=c_{1}^{2}+\kappa\left(4-c_{1}^{2}\right) \tag{20}
\end{equation*}
$$

for some $\kappa,|\kappa| \leq 1$, and

$$
\begin{equation*}
4 c_{3}=c_{1}^{3}+2\left(4-c_{1}^{2}\right) c_{1} \kappa-c_{1}\left(4-c_{1}^{2}\right) \kappa^{2}+2\left(4-c_{1}^{2}\right)\left(1-|\kappa|^{2}\right) z, \tag{21}
\end{equation*}
$$

for some $z,|z| \leq 1$.

Lemma 2.5. [15] The power series for $p(z)$ given in (17) converges in $\Delta$ to a function in $\mathcal{P}$ if and only if the Toeplitz determinants

$$
D_{n}=\left|\begin{array}{ccccc}
2 & c_{1} & c_{2} & \cdots & c_{n}  \tag{22}\\
c_{-1} & 2 & c_{1} & \cdots & c_{n-1} \\
\vdots & \vdots & \vdots & \vdots & \vdots \\
c_{-n} & c_{-n+1} & c_{-n+2} & \cdots & 2
\end{array}\right|, \quad n=1,2,3, \cdots
$$

and $c_{-k}=\overline{c_{k}}$, are all nonnegative. They are strictly positive except for

$$
p(z)=\sum_{k=1}^{m} \rho_{k} p_{0}\left(e^{i t_{k} z}\right), \rho_{k}>0, t_{k} \text { real }
$$

and $t_{k} \neq t_{j}$ for $k \neq j$ in this case $D_{n}>0$ for $n<m-1$ and $D_{n}=0$ for $n \geq m$.

## 3. MAIN RESULTS

Unless otherwise mentioned, we shall assume in the reminder of this paper that $\eta \in$ $\mathbb{C}^{*}, \alpha, \beta \in \mathbb{C}, \Re(\alpha)>0, \Re(\beta)>0,0 \leq \gamma \leq 1,0<\lambda \leq 1,|x|<1$ and $z \in \Delta$, the powers are understood as principle values.

We give the following result related to the coefficient of $f(z) \in \mathcal{M}_{\gamma}^{\eta}(\lambda, \alpha, \beta, x)$
Theorem 3.1. Let $f(z)$ given by (1) belongs to the class $\mathcal{M}_{\gamma}^{\eta}(\lambda, \alpha, \beta, x)$ and $\eta \in \mathbb{C}^{*}$, then

$$
\begin{equation*}
\left|a_{k}\right| \leq \frac{|\eta x|(k-1)!E_{\alpha, \beta}(\lambda(k-1)) \Gamma(\alpha(k-1)+\beta)}{[1+\gamma(k-1)](\lambda(k-1))![\lambda(k-1)]^{k-2} e^{-\lambda(k-1)}}, \quad(k \in \mathbb{N} \backslash\{1\}) . \tag{23}
\end{equation*}
$$

Proof. If $f(z)$ of the form (1) belongs to the class $\mathcal{M}_{\gamma}^{\eta}(\lambda, \alpha, \beta, x)$, then

$$
1+\frac{1}{\eta}\left((1-\gamma) \frac{\mathcal{B}(\lambda, \alpha, \beta) f(z)}{z}+\gamma(\mathcal{B}(\lambda, \alpha, \beta) f(z))^{\prime}-1\right) \prec G(x, z)
$$

where $\eta \in \mathbb{C}^{*}, 0 \leq \gamma \leq 1,0<\lambda \leq 1,|x|<1, z \in \Delta$, and $G(x, z)$ is convex univalent in $\Delta$, we have

$$
\begin{aligned}
& 1+\frac{1}{\eta}\left((1-\gamma) \frac{\mathcal{B}(\lambda, \alpha, \beta) f(z)}{z}+\gamma(\mathcal{B}(\lambda, \alpha, \beta) f(z))^{\prime}-1\right) \\
= & 1+\frac{1}{\eta} \sum_{k=2}^{\infty}(1+k \gamma-\gamma) \phi_{k} a_{k} z^{k-1} \\
= & 1+\frac{1}{\eta} \sum_{k=2}^{\infty}(1+k \gamma-\gamma) \frac{(\lambda(k-1))![\lambda(k-1)]^{k-2} e^{-\lambda(k-1)}}{(k-1)!E_{\alpha, \beta}(\lambda(k-1)) \Gamma(\alpha(k-1)+\beta)} a_{k} z^{k-1} \\
= & 1+\sum_{k=1}^{\infty} \frac{(1+k \gamma)}{\eta} \frac{(\lambda k)![\lambda k]^{k-1} e^{-\lambda k}}{k!E_{\alpha, \beta}(\lambda k) \Gamma(\alpha k+\beta)} a_{k+1} z^{k} .
\end{aligned}
$$

By Definition 1.2, we get

$$
\begin{align*}
& 1+\sum_{k=1}^{\infty} \frac{(1+k \gamma)}{\eta} \frac{(\lambda k)![\lambda k]^{k-1} e^{-\lambda k}}{k!E_{\alpha, \beta}(\lambda k) \Gamma(\alpha k+\beta)} a_{k+1} z^{k} \\
\prec & 1+x z-\frac{1}{2}\left(3 x^{2}-1\right) z^{2}+\frac{1}{2}\left(5 x^{3}-3 x\right) z^{3}+\cdots(z \in \Delta) . \tag{24}
\end{align*}
$$

Now, by applying Lemma 2.1, we get

$$
\left|a_{k+1}\right| \leq \frac{|x \eta|}{(1+k \gamma)} \frac{k!E_{\alpha, \beta}(\lambda k) \Gamma(\alpha k+\beta)}{(\lambda k)![\lambda k]^{k-1} e^{-\lambda k}}
$$

This completes the proof of Theorem 3.1.

In the next two theorems, we obtain the result concerning Fekete-Szego inequality and upper bound of Hankel determinant for the class $\mathcal{M}_{\gamma}^{\eta}(\lambda, \alpha, \beta, x)$.
Theorem 3.2. Let $f(z)$ given by (1) belongs to the class $\mathcal{M}_{\gamma}^{\eta}(\lambda, \alpha, \beta, x), 0 \leq \gamma \leq$ $1,-1 \leq B<A \leq 1$ and $\eta \in \mathbb{C}^{*}$, then

$$
\begin{align*}
\left|a_{3}-\mu a_{2}^{2}\right| \leq & \frac{|\eta x| E_{\alpha, \beta}(2 \lambda) \Gamma(2 \alpha+\beta)}{\lambda(1+2 \gamma)(2 \lambda)!e^{-2 \lambda}} \\
& \times \max \left\{1,\left|\frac{1}{2 x}-\frac{3}{2} x+\frac{\mu \eta \lambda x(1+2 \gamma)(2 \lambda)!E_{\alpha, \beta}^{2}(\lambda) \Gamma^{2}(\alpha+\beta)}{2(1+\gamma)^{2}(\lambda!)^{2} E_{\alpha, \beta}(2 \lambda) \Gamma(2 \alpha+\beta)}\right|\right\}(2 \tag{25}
\end{align*}
$$

This result is sharp.

Proof. Let $f(z) \in \mathcal{M}_{\gamma}^{\eta}(\lambda, \alpha, \beta, x)$, then there is a Schwarz function $w(z)$ in $\Delta$ with $w(0)=$ 0 and $|w(z)|<1$ in $\Delta$ and such that

$$
\begin{equation*}
1+\frac{1}{\eta}\left((1-\gamma) \frac{\mathcal{B}(\lambda, \alpha, \beta) f(z)}{z}+\gamma(\mathcal{B}(\lambda, \alpha, \beta) f(z))^{\prime}-1\right)=\Phi(w(z)) \quad(z \in \Delta) \tag{26}
\end{equation*}
$$

where

$$
\begin{align*}
\Phi(z) & =\frac{1}{\sqrt{1-2 x z+z^{2}}}=1+x z+\frac{1}{2}\left(3 x^{2}-1\right) z^{2}+\frac{1}{2}\left(5 x^{3}-3 x\right) z^{3}+\cdots  \tag{27}\\
& =1+P_{1}(x) z+P_{2}(x) z^{2}+P_{3}(x) z^{3}+P_{4}(x) z^{4}+\cdots(z \in \Delta)
\end{align*}
$$

If the function $p_{1}(z)$ is analytic and has positive real part in $\Delta$ and $p_{1}(0)=1$, then

$$
\begin{equation*}
p_{1}(z)=\frac{1+w(z)}{1-w(z)}=1+c_{1} z+c_{2} z^{2}+c_{3} z^{3}+\cdots(z \in \Delta) . \tag{28}
\end{equation*}
$$

Since $w(z)$ is a Schwarz function. Define

$$
\begin{align*}
h(z) & =1+\frac{1}{\eta}\left((1-\gamma) \frac{\mathcal{B}(\lambda, \alpha, \beta) f(z)}{z}+\gamma(\mathcal{B}(\lambda, \alpha, \beta) f(z))^{\prime}-1\right) \\
& =1+d_{1} z+d_{2} z^{2}+d_{3} z^{3}+\cdots(z \in \Delta) . \tag{29}
\end{align*}
$$

In view of the equations (26) and (28), we have

$$
\begin{gather*}
p(z)=\Phi\left(\frac{p_{1}(z)-1}{p_{1}(z)+1}\right) . \\
\frac{p_{1}(z)-1}{p_{1}(z)+1}=\frac{1}{2}\left[c_{1} z+\left(c_{2}-\frac{c_{1}^{2}}{2}\right) z^{2}+\left(c_{3}+\frac{c_{1}^{3}}{4}-c_{1} c_{2}\right) z^{3}+\cdots\right] . \tag{30}
\end{gather*}
$$

Therefore, we have
$\Phi\left(\frac{p_{1}(z)-1}{p_{1}(z)+1}\right)=1+\frac{1}{2} P_{1}(x) c_{1} z+\left[\frac{1}{2} P_{1}(x)\left(c_{2}-\frac{c_{1}^{2}}{2}\right)+\frac{1}{4} P_{2}(x) c_{1}^{2}\right] z^{2}$ $+\left(\frac{P_{1}(x)}{2}\left(c_{3}-c_{1} c_{2}+\frac{c_{1}^{3}}{4}\right)+\frac{P_{2}(x) c_{1}}{2}\left(c_{2}-\frac{c_{1}^{2}}{2}\right)+\frac{P_{3}(x) c_{1}^{3}}{8}\right) z^{3}+\cdots$,
and from this equation and (29), we obtain

$$
\begin{equation*}
d_{1}=\frac{1}{2} P_{1}(x) c_{1}, \quad d_{2}=\frac{1}{2} P_{1}(x)\left(c_{2}-\frac{c_{1}^{2}}{2}\right)+\frac{1}{4} P_{2}(x) c_{1}^{2} . \tag{32}
\end{equation*}
$$

Sinceand

$$
\begin{equation*}
d_{3}=\frac{P_{1}(x)}{2}\left(c_{3}-c_{1} c_{2}+\frac{c_{1}^{3}}{4}\right)+\frac{P_{2}(x) c_{1}}{2}\left(c_{2}-\frac{c_{1}^{2}}{2}\right)+\frac{P_{3}(x) c_{1}^{3}}{8} . \tag{33}
\end{equation*}
$$

Then, from (27), we see that

$$
\begin{gather*}
d_{1}=\frac{(1+\gamma) \lambda!e^{-\lambda} a_{2}}{\eta E_{\alpha, \beta}(\lambda) \Gamma(\alpha+\beta)},  \tag{34}\\
d_{2}=\frac{\lambda(1+2 \gamma)(2 \lambda)!e^{-2 \lambda} a_{3}}{\eta E_{\alpha, \beta}(2 \lambda) \Gamma(2 \alpha+\beta)}, \tag{35}
\end{gather*}
$$

and

$$
\begin{equation*}
d_{3}=\frac{3 \lambda^{2}(1+3 \gamma)(3 \lambda)!e^{-3 \lambda} a_{4}}{2 \eta E_{\alpha, \beta}(3 \lambda) \Gamma(3 \alpha+\beta)} \tag{36}
\end{equation*}
$$

Now from $(27),(29)$ and (34), we have the following

$$
\begin{equation*}
a_{2}=\frac{\eta x E_{\alpha, \beta}(\lambda) \Gamma(\alpha+\beta) c_{1}}{2(1+\gamma) \lambda!e^{-\lambda}}, \tag{37}
\end{equation*}
$$

Thus by Lemma 2.2

$$
\left|a_{2}\right| \leq \frac{|\eta x| E_{\alpha, \beta}(\lambda) \Gamma(\alpha+\beta)}{(1+\gamma) \lambda!e^{-\lambda}}
$$

Now

$$
\begin{align*}
a_{3} & =\frac{\eta x E_{\alpha, \beta}(2 \lambda) \Gamma(2 \alpha+\beta)}{4 \lambda(1+2 \gamma)(2 \lambda)!e^{-2 \lambda}}\left\{2 c_{2}-c_{1}^{2}\left(\frac{2 x+1}{2 x}-\frac{3}{2} x\right)\right\} \\
& =\frac{\eta x E_{\alpha, \beta}(2 \lambda) \Gamma(2 \alpha+\beta)}{2 \lambda(1+2 \gamma)(2 \lambda)!e^{-2 \lambda}}\left\{c_{2}-\frac{c_{1}^{2}}{2}\left(\frac{2 x+1}{2 x}-\frac{3}{2} x\right)\right\} \tag{38}
\end{align*}
$$

thus by Lemma 2.3, we have $\left|c_{2}-\nu c_{1}^{2}\right| \leq \max \{1 ;|2 \nu-1|\}$, thus

$$
\left|a_{3}\right| \leq \frac{|\eta x| E_{\alpha, \beta}(2 \lambda) \Gamma(2 \alpha+\beta)}{2 \lambda(1+2 \gamma)(2 \lambda)!e^{-2 \lambda}} \max \{1 ;|2 \nu-1|\}
$$

where $\nu=\frac{1}{2}\left(\frac{2 x+1}{2 x}-\frac{3}{2} x\right)$ Hence

$$
\left|a_{3}\right| \leq \frac{|\eta x| E_{\alpha, \beta}(2 \lambda) \Gamma(2 \alpha+\beta)}{2 \lambda(1+2 \gamma)(2 \lambda)!e^{-2 \lambda}} \max \left\{1 ;\left|\frac{1}{2 x}-\frac{3}{2} x\right|\right\}
$$

Now we note that

$$
\begin{equation*}
a_{4}=\frac{\eta x E_{\alpha, \beta}(3 \lambda) \Gamma(3 \alpha+\beta)}{24 \lambda^{2}(1+3 \gamma)(3 \lambda)!e^{-3 \lambda}}\left\{8 x c_{3}+4 c_{1} c_{2}\left(3 x^{2}-2 x-1\right)+c_{1}^{3}\left(5 x^{3}-6 x^{2}-x+2\right)\right\} \tag{39}
\end{equation*}
$$

Therefore, we have

$$
\begin{equation*}
a_{3}-\mu a_{2}^{2}=\frac{\eta x E_{\alpha, \beta}(2 \lambda) \Gamma(2 \alpha+\beta)}{2 \lambda(1+2 \gamma)(2 \lambda)!e^{-2 \lambda}}\left\{c_{2}-\nu c_{1}^{2}\right\} \tag{40}
\end{equation*}
$$

where

$$
\begin{equation*}
\nu=\frac{1}{2}\left[\frac{2 x+1}{2 x}-\frac{3}{2} x+\frac{\mu \eta \lambda x(1+2 \gamma)(2 \lambda)!E_{\alpha, \beta}^{2}(\lambda) \Gamma^{2}(\alpha+\beta)}{2(1+\gamma)^{2}(\lambda!)^{2} E_{\alpha, \beta}(2 \lambda) \Gamma(2 \alpha+\beta)}\right] \tag{41}
\end{equation*}
$$

Our result now follows by an application of Lemma 2.3.This completes the proof of Theorem 3.2.
The result is sharp for the functions

$$
\begin{aligned}
& 1+\frac{1}{\eta}\left((1-\gamma) \frac{\mathcal{B}(\lambda, \alpha, \beta) f(z)}{z}+\gamma(\mathcal{B}(\lambda, \alpha, \beta) f(z))^{\prime}-1\right)=\Phi\left(z^{2}\right) \\
\Phi\left(z^{2}\right) & =\frac{1}{\sqrt{1-2 x z^{2}+z^{4}}}=1+x z^{2}+\frac{1}{2}\left(3 x^{2}-1\right) z^{4}+\frac{1}{2}\left(5 x^{3}-3 x\right) z^{6}+\cdots, \\
& =1+P_{1}(x) z^{2}+P_{2}(x) z^{4}+P_{3}(x) z^{6}+P_{4}(x) z^{8}+\cdots(z \in \Delta)
\end{aligned}
$$

Here $d_{1}=0 \Rightarrow a_{2}=0$, also we get $c_{1}=0$ and

$$
d_{2}=P_{1}(x) \Rightarrow a_{3}=\frac{\eta x E_{\alpha, \beta}(2 \lambda) \Gamma(2 \alpha+\beta)}{\lambda(1+2 \gamma)(2 \lambda)!e^{-2 \lambda}}
$$

Thus by (40)

$$
\left|a_{3}-\mu a_{2}^{2}\right| \leq \frac{|\eta x| E_{\alpha, \beta}(2 \lambda) \Gamma(2 \alpha+\beta)}{\lambda(1+2 \gamma)(2 \lambda)!e^{-2 \lambda}}
$$

Actually this is $\left|a_{3}\right|$, hence the result is sharp for $w(z)=z^{2}$ which is $\Phi\left(z^{2}\right)$.
Theorem 3.3. If $f(z) \in \mathcal{M}_{\gamma}^{\eta}(\lambda, \alpha, \beta, x)$, then

$$
\begin{equation*}
\left|a_{2} a_{4}-a_{3}^{2}\right| \leq\left(\frac{\eta x E_{\alpha, \beta}(2 \lambda) \Gamma(2 \alpha+\beta)}{\lambda(1+2 \gamma)(2 \lambda)!e^{-2 \lambda}}\right)^{2} . \tag{42}
\end{equation*}
$$

Proof. Since $f(z) \in \mathcal{M}_{\gamma}^{\eta}(\lambda, \alpha, \beta, x)$, and, from (37),(38) (39), it can be established that

$$
\begin{gather*}
\left|a_{2} a_{4}-a_{3}^{2}\right|=\frac{1}{48 \lambda^{2}(1+\gamma)(1+3 \gamma) \lambda!(3 \lambda)!e^{-4 \lambda}} \\
\times \mid \eta^{2} x^{2} E_{\alpha, \beta}(\lambda) \Gamma(\alpha+\beta) E_{\alpha, \beta}(3 \lambda) \Gamma(3 \alpha+\beta) c_{1} \\
\left\{8 x c_{3}+4 c_{1} c_{2}\left(3 x^{2}-2 x-1\right)+c_{1}^{3}\left(5 x^{3}-6 x^{2}-x+2\right)\right\} \\
\left.-\left(\frac{\eta x E_{\alpha, \beta}(2 \lambda) \Gamma(2 \alpha+\beta)}{4 \lambda(1+2 \gamma)(2 \lambda)!e^{-2 \lambda}}\left\{2 c_{2}-c_{1}^{2}\left(\frac{2 x+1}{2 x}-\frac{3}{2} x\right)\right\}\right)^{2} \right\rvert\, \tag{43}
\end{gather*}
$$

For the sake of brevity we consider

$$
\begin{equation*}
M=\frac{\eta^{2} x^{2} E_{\alpha, \beta}(\lambda) E_{\alpha, \beta}(3 \lambda) \Gamma(\alpha+\beta) \Gamma(3 \alpha+\beta)}{48 \lambda^{2}(1+\gamma)(1+3 \gamma) \lambda!(3 \lambda)!e^{-4 \lambda}}>0 \tag{44}
\end{equation*}
$$

and

$$
\begin{equation*}
N=\left(\frac{\eta x E_{\alpha, \beta}(2 \lambda) \Gamma(2 \alpha+\beta)}{4 \lambda(1+2 \gamma)(2 \lambda)!e^{-2 \lambda}}\right)^{2}>0 \tag{45}
\end{equation*}
$$

Thus, we have

$$
\begin{gather*}
\left|a_{2} a_{4}-a_{3}^{2}\right|=\mid M c_{1}\left\{8 x c_{3}+4 c_{1} c_{2}\left(3 x^{2}-2 x-1\right)+c_{1}^{3}\left(5 x^{3}-6 x^{2}-x+2\right)\right\} \\
\left.-N\left(2 c_{2}-c_{1}^{2}\left(\frac{2 x+1}{2 x}-\frac{3}{2} x\right)\right)^{2} \right\rvert\, \tag{46}
\end{gather*}
$$

Suppose $c_{1}=c$ and $c \in[0,2]$. We make use of Lemma 2.5 to obtain the proper bound on (43). We may assume without restriction that $c_{1}>0$. We begin by rewriting (22) for the cases $n=2$ and $n=3$,

$$
D_{2}=\left|\begin{array}{ccc}
2 & c_{1} & c_{2}  \tag{47}\\
c_{1} & 2 & c_{1} \\
\overline{c_{2}} & c_{1} & 2
\end{array}\right|=8+2 \operatorname{Re}\left\{c_{1}^{2} c_{2}\right\}-2\left|c_{2}\right|^{2}-4 c_{1}^{2} \geq 0
$$

which is equivalent to

$$
\begin{equation*}
2 c_{2}=c_{1}^{2}+\kappa\left(4-c_{1}^{2}\right) \tag{48}
\end{equation*}
$$

for some $x,|x| \leq 1$. Then $D_{3} \geq 0$ is equivalent to

$$
\begin{equation*}
\left|\left(4 c_{3}-4 c_{1} c_{2}+c_{1}^{3}\right)\left(4-c_{1}^{2}\right)+c_{1}\left(2 c_{2}-c_{1}^{2}\right)^{2}\right| \leq 2\left(4-c_{1}^{2}\right)^{2}-2\left|2 c_{2}-c_{1}^{2}\right|^{2} \tag{49}
\end{equation*}
$$

and from (20) with (49), we have,

$$
\begin{equation*}
4 c_{3}=c_{1}^{3}+2\left(4-c_{1}^{2}\right) c_{1} \kappa-c_{1}\left(4-c_{1}^{2}\right) \kappa^{2}+2\left(4-c_{1}^{2}\right)\left(1-|\kappa|^{2}\right) z \tag{50}
\end{equation*}
$$

for some value of $z,|z| \leq 1$. Using (48) along with (50), (49) we obtain

$$
\begin{aligned}
\left|a_{2} a_{4}-a_{3}^{2}\right|= & \mid M\left\{8 x c_{1} c_{3}+4 c_{1}^{2} c_{2}\left(3 x^{2}-2 x-1\right)+c_{1}^{4}\left(5 x^{3}-6 x^{2}-x+2\right)\right\} \\
& \left.-N\left(2 c_{2}-c_{1}^{2}\left(\frac{2 x+1}{2 x}-\frac{3}{2} x\right)\right)^{2} \right\rvert\, \\
\leq & \left|M\left\{8 x c_{1} c_{3}+4 c_{1}^{2} c_{2}\left(3 x^{2}-2 x-1\right)+c_{1}^{4}\left(5 x^{3}-6 x^{2}-x+2\right)\right\}\right| \\
& +\left|N\left(2 c_{2}-c_{1}^{2}\left(\frac{2 x+1}{2 x}-\frac{3}{2} x\right)\right)^{2}\right|
\end{aligned}
$$

By using Lemma 2.4, we have

$$
\begin{align*}
\left|a_{2} a_{4}-a_{3}^{2}\right| \leq & M \mid c^{4}\left(5 x^{3}-3 x\right)-2 x\left(4-c^{2}\right) c^{2} \chi^{2}+2\left(4-c^{2}\right)\left(3 x^{2}-1\right) c^{2} \chi \\
& +4 c x\left(4-c^{2}\right)\left(1-|\chi|^{2}\right) z \mid+ \\
& N\left|\left(4-c^{2}\right)^{2} \chi^{2}-2 c^{2} \chi\left(4-c^{2}\right)\left(\frac{1-3 x^{2}}{2 x}\right)+c^{4}\left(\frac{1-3 x^{2}}{2 x}\right)^{2}\right| \\
\leq & M\left[c^{4}\left(5 x^{3}-3 x\right)-2 x\left(4-c^{2}\right) c^{2} \rho^{2}+2\left(4-c^{2}\right)\left(3 x^{2}-1\right) c^{2} \rho\right. \\
& \left.+4 c x\left(4-c^{2}\right)\left(1-\rho^{2}\right)\right]+ \\
\quad & N\left[\left(4-c^{2}\right)^{2} \rho^{2}-2 c^{2} \rho\left(4-c^{2}\right)\left(\frac{1-3 x^{2}}{2 x}\right)+c^{4}\left(\frac{1-3 x^{2}}{2 x}\right)^{2}\right] \\
= & \mathcal{F}(\rho, c), \tag{51}
\end{align*}
$$

where $\rho=|\chi| \leq 1$ and $|z|<1$. We assume that the upper bound for (54) is attained at an interior point of the set $\{(\rho, c): \rho \in[0,1], c \in[0,2]\}$, then

$$
\begin{align*}
\frac{\partial \mathcal{F}(\rho, c)}{\partial \rho}= & M\left[-4 x\left(4-c^{2}\right) c^{2} \rho+2\left(4-c^{2}\right)\left(3 x^{2}-1\right) c^{2}-8 c x \rho\left(4-c^{2}\right)\right]+ \\
& N\left[2 \rho\left(4-c^{2}\right)^{2}-2 c^{2}\left(4-c^{2}\right)\left(\frac{1-3 x^{2}}{2 x}\right)\right] \tag{52}
\end{align*}
$$

We note that $\frac{\partial \mathcal{F}(\rho, c)}{\partial \rho}>0$ and consequently $\mathcal{F}$ is increasing and $\max \mathcal{F}(\rho, c)=\mathcal{F}(1, c)$, which contradicts our assumption of having the maximum value at the interior of $\rho \in[0,1]$. Now let

$$
\begin{align*}
\mathcal{G}(c)= & \mathcal{F}(1, c)=M\left[c^{4}\left(5 x^{3}-3 x\right)-2 x\left(4-c^{2}\right) c^{2}+2\left(4-c^{2}\right)\left(3 x^{2}-1\right) c^{2}\right]+ \\
& N\left[\left(4-c^{2}\right)^{2}-2 c^{2}\left(4-c^{2}\right)\left(\frac{1-3 x^{2}}{2 x}\right)+c^{4}\left(\frac{1-3 x^{2}}{2 x}\right)^{2}\right] \\
= & M\left[c^{4}\left(5 x^{3}-6 x^{2}-x+2\right)+8 c^{2}\left(3 x^{2}-x-1\right)\right]+ \\
& N\left[c^{4}\left(1+\frac{1-3 x^{2}}{2 x}\right)^{2}-8 c^{2}\left(1+\frac{1-3 x^{2}}{2 x}\right)+16\right] \tag{53}
\end{align*}
$$

then

$$
\begin{align*}
\mathcal{G}^{\prime}(c)= & M\left[4 c^{3}\left(5 x^{3}-6 x^{2}-x+2\right)+16 c\left(3 x^{2}-x-1\right)\right]+ \\
& N\left[4 c^{3}\left(1+\frac{1-3 x^{2}}{2 x}\right)^{2}-16 c\left(1+\frac{1-3 x^{2}}{2 x}\right)\right]=0 \tag{54}
\end{align*}
$$

therefore (54) implies $c=0$, which is a contradiction. We note that

$$
\begin{align*}
\mathcal{G}^{\prime \prime}(c)= & M\left[12 c^{2}\left(5 x^{3}-3 x^{2}-x+1\right)+16\left(3 x^{2}-x-1\right)\right]+ \\
& N\left[12 c^{2}\left(1+\frac{1-3 x^{2}}{2 x}\right)^{2}-16\left(1+\frac{1-3 x^{2}}{2 x}\right)\right]<0 \tag{55}
\end{align*}
$$

Thus any maximum points of $\mathcal{G}$ must be on the boundary of $c \in[0,2]$. However, $\mathcal{G}(c) \geq$ $\mathcal{G}(2)$ and thus $\mathcal{G}$ has maximum value at $c=0$. The upper bound for (51) corresponds to $\rho=1$ and $c=0$, in which case we get

$$
\left|a_{2} a_{4}-a_{3}^{2}\right| \leq 16 N=\left(\frac{\eta x E_{\alpha, \beta}(2 \lambda) \Gamma(2 \alpha+\beta)}{\lambda(1+2 \gamma)(2 \lambda)!e^{-2 \lambda}}\right)^{2}
$$

this completes the proof Theorem 3.3.

Remark 3.1. By specializing the parameters $\gamma=0$ and $\gamma=1$ one can derive the coefficient estimate, Fekete-Szegö inequalities and second Hankel determinant inequalities as in Theorems 3.1, 3.2, and 3.3 respectively for the various other new interesting subclasses of $\mathcal{A}$ stated in Example 1.1 to 1.4. The details involved may be left as an exercise for the interested reader.

Acknowledgement We record our sincere thanks to the referees for their valuable suggestions to state the results in present form.

## References

[1] Abubaker A., Darus, M., (2011), Hankel Determinant for a class of analytic functions involving a generalized linear differential operator, Internat. J. Pure and Applied Math., 69, (3), pp. 429-435.
[2] Attiya A., (2016), Some Applications of Mittag-Leffler Function in the Unit Disk, Filomat, 30, (7), pp. 2075-2081.
[3] Bansal D., (2012), Upper bound of second Hankel determinant for a new class of analytic functions, Appl. Math. Letters, doi:10.1016/j.aml.2012.04.002.
[4] Bansal D., Prajapat, J. K., (2016), Certain geometric properties of the Mittag-Leffler functions, Complex Var. Elliptic Equ., 61, (3), pp. 338-350.
[5] Bulboaca T., (2005), Differential Subordinations and Superordinations, Recent Results, House of Scientific Book Publ., Cluj-Napoca.
[6] Bulut S., Engel, O., (2019), The radius of starlikeness, convexity and uniform convexity of the Legendre polynomials of odd degree, Results Math, 74:48, https://doi.org/10.1007/s00025-019-0975-1.
[7] Duren, P. L., (1983), Univalent Functions, vol. 259 of Grundlehren der Mathematischen Wissenschaften, Springer-Verlag, New York, Berlin, Heidelberg, Tokyo.
[8] Ebadian A., Cho N.E., Adegani E.A., Bulut S., Bulboaca T., (2020), Radii problems for some classes of analytic functions associated with Legendre polynomials of odd degree,JIA 178,https://doi.org/10.1186/s13660-020-02443-4.
[9] El-Deeb S. M., El-Matary B. M., (2020), New subclasses of bi-univalent functions connected with a $q$ - analogue of convolution Bbased upon the Legendre polynomials, Stud.Univ.Babes-Bolyai Math.(accepted for publications)
[10] El-Deeb S. M., (2017), Second Hankel determinant for a class of analytic functions associated with Prajapat operator, Revue Roumaine de Math. Pure et Appliquees, 3, pp. 371-381.
[11] El-Deeb S. M., Aouf, M. K., (2015), Second Hankel determinant for a class of analytic functions of complex order defined by convolution, Annales Univ. Mariae Curie-Sklodowska Lublin, Polonia, 2, pp.47-59.
[12] Frasin B. A., (2019), An application of an operator associated with generalized Mittag-Leffler function, Konuralp Journal of Mathematics, 7, (1), pp.199-202.
[13] Frasin B. A., Al-Hawary, T., Yousef, F., (2020), Some properties of a linear operator involving generalized Mittag-Leffler function, Stud. Univ. Babes-Bolyai Math. 65, (1), pp.67-75.
[14] Garg M., Manohar, P., Kalla, S. L., (2013), A Mittag-Leffler-typefunction of two variables. Integral Transforms Spec. Funct. 24, (11), pp. 934-944.
[15] Grenander U., Szego, G., (1958), Toeplitz Forms and Their Application, Univ. of california press, Berkeley and Los Angeles.
[16] Janteng A., Halim, S. A., and Darus, M., (2007), Hankel determinant for starlike and convex functions, Int. J. Math. Anal., 1, (13), pp. 619-625.
[17] Keogh F. R., Markes, E. P., (1969), A coefficient inequality for certain classes of analytic functions, Proc. Amer. Math. Soc., 20, pp. 8-12.
[18] Kiryakova V., (1994), Generalized fractional calculus and applications. Pitman Research Notes in Mathematics Series, 301. Longman Scientific \& Technical, Harlow; co-published in the United States with John Wiley \& Sons, Inc., New York.
[19] Lebedev N., (1972), Special functions and their applications, Dover, New York.
[20] Libera R. J., Zlotkewicz, E. J., (1983), Coefficient bounds for the inverse of a function with derivative in $\mathcal{P}$, Proc. Amer. Math. Soc., 87, (2), pp. 251-257.
[21] Miller S. S., Mocanu P. T., (2000), Differential Subordination: Theory and Applications, Series on Monographs and Textbooks in Pure and Applied Mathematics, Vol. 225, Marcel Dekker Inc., New York and Basel.
[22] Mishra A. K., Gochhayat, P., (2008), Second Hankel determinant for a class of analytic functions defined by fractional derivative, Int. J. Math. Math. Sci., Art. ID 153280, pp. 1-10.
[23] Mishra A. K., Kund, S. N., (2013), Second Hankel determinant for a class of functions defined by the Carlson-Shaffer, Tamkang J. Math., 44, (1), pp. 73-82.
[24] Mittag-Leffler G. M., (1903). Sur la nouvelle fonction E(x), C. R. Acad. Sci. Paris, 137, pp. 554-558.
[25] Mohammed A., Darus, M., (2012), Second Hankel determinant for a class of analytic functions defined by a linear operator, Tamkang J. Math., 43, (3), pp. 455-462.
[26] Noonan J. W., Thomas D. K., (1976), On the second Hankel determinant of areally mean $p$-valent functions, Trans. Amer. Math. Soc., 223, (2), pp. 337-346.
[27] Rogosinski W., (1943), On the coefficients of subordinate functions, Proc. London Math. Soc., 48, pp. 48-82.
[28] Wanas A. K., Khuttar J. A., (2020), Applications of Borel distribution series on analytic functions, Earthline J. Math. Sci., 4, (1), pp.71-82.
[29] Wiman A., (1905), Über die Nullstellun der Funcktionen E(x), Acta Math., 29, pp. 217-134.
[30] Xu Q.-H., Xiao H.-G., Srivastava, H. M., (2012), A certain general subclass of analytic and bi-univalent functions and associated coefficient estimate problems, Appl. Math. Comput., 218, pp. 11461-11465.
G. Murugusundaramoorthy for the photography and short autobiography, see TWMS J. App. and Eng. Math. V.11, N.2.


Sheza M. El-Deeb is an associate professor in the Department of Mathematics, Faculty of Science, Damietta University, Egypt and currently an associate professor in the Department of Mathematics, College of Science and Arts in Al-Badaya, Qassim University, Saudi Arabia.


[^0]:    ${ }^{1}$ School of Advanced Sciences, Vellore Institute of Technology, Vellore, 632014, India. e-mail: gmsmoorthy@yahoo.com; ORCID: http://orcid.org/0000-0001-8285-6619.
    ${ }^{2}$ Department of Mathematics, Faculty of Science, Damietta University, New Damietta 34517, Egypt. Department of Mathematics, College of Science and Arts, Al-Badaya, Qassim University, Buraidah, 51452, Saudi Arabia. e-mail: shezaeldeeb@yahoo.com; ORCID: https://orcid.org/0000-0002-4052-391X.

    * Corresponding author.
    § Manuscript received: August 29, 2020; accepted: November 11, 2020. TWMS Journal of Applied and Engineering Mathematics, Vol.12, No. 4 (C) Işık University, Department of Mathematics, 2022; all rights reserved.

